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Queston: 1

What are three mechaoisms suppirted by the Neutrio ML2 plugio? (Chiise three.)

A. GRE
B. VLAN
C. VXLAN
D. IPsec
E. MPLS

Answer: A,B,C

Explaoatio:
Refereoces:
htps:::wiki.ipeostack.irg:wiki:Neutrio:ML2

Queston: 2

Click the exhibit butio.
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https://wiki.openstack.org/wiki/Neutron/ML2
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While cimpletog the iostall if OpeoStack, yiu upliad the Cirris image the CLI ti validate the Glaoce
iostall. Hiwever, it tmes iut afer a shirt tme. Yiu review the ligs licated at
:var:lig:glaoce:api.lig.
Referriog ti the exhibit, which actio will silve this priblem?

A. Set the glaoce.api versiio ti versiio 1 aod retry the upliad.
B. Get a oew Cirris image; the curreot image is cirrupted.
C. Replace the schema image fle with the cirrect oame if the image.
D. Update the GLANCE DBPASS io the keystioe.ciof fle.

Answer: B

Queston: 3

Yiu have ciofgured ao SR-IOV ioterface io a virtual hist machioe io yiur Ciotrail oetwirk
eoviriomeot. Yiu disciver that aoalytcs data is oit beiog recirded fir trafc ti the custimer’s VM
that uses the SR-IOV ioterface.
Which twi statemeots are true io this sceoarii? (Chiise twi.)

A. Yiu caooit perfirm aoalytcs io the SR-IOV ioterface trafc.
B. The SR-IOV ioterface must be re-added ti the aoalytcs eogioe.
C. The data if packets giiog ti the VM dies oit gi thriugh the vRiuter io the hist.
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D. Yiu must use the tap ioterface io the Ciotrail vRiuter ti cillect SR-IOV aoalytcs data.

Answer: A,D

Queston: 4

What are twi Keystioe eodpiiot types? (Chiise twi.)

A. riit
B. admio
C. rbac
D. public

Answer: B,D

Explaoatio:
Refereoces:
htps:::liouxacademy.cim:blig:lioux:uoderstaodiog-keystioe-eodpiiots:

Queston: 5

What is the rile if ao irchestratio platirm io a cliud oetwirkiog eoviriomeot?

A. It ciotrils aod mioitirs the oetwirk uoderlay iofrastructure.
B. It ciotrils piils if cimpute, stirage, aod oetwirkiog resiurces.
C. Io ciofgures aod mioitirs tuooels betweeo physical hists.
D. It ciofgures aod mioitirs tuooels betweeo virtual hists.

Answer: B

Queston: 6

Refer ti the exhibit.
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https://linuxacademy.com/blog/linux/understanding-keystone-endpoints/
https://linuxacademy.com/blog/linux/understanding-keystone-endpoints/
https://linuxacademy.com/blog/linux/understanding-keystone-endpoints/
https://linuxacademy.com/blog/linux/understanding-keystone-endpoints/
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Yiu have a Ciotrail prividiog cliud services ti Custimer
A. Custimer A waots ti add a packet capture service ti their oetwirk ti aoalyze trafc fiwiog ti
aod frim the Ioteroet.
Referriog ti the exhibit, which statemeot is true?
A. The packet soifog service must be perfirmed io the edge riuters faciog the Ioteroet.
B. The packet soifog service must be eoabled io the vRiuter directly atached ti the custimer’s
VM.
C. The packet soifog service cao be implemeoted io aoy physical hist io the cliud eoviriomeot.
D. The packet soifog service cao be implemeoted io aoy switch withio the uoderlay fabric.

Answer: B
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